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690975 =3 x 3 x5 xHx37Tx83x1

oooOo
2P + 1 = 15(68068n + 46065)

oobooooooliboooobooooobobooobooboobooboboooobOoobOoo
good

Q=3454930000
P = 510510 + 345493

2P 4+ 1 = 2(510510n + 345493) + 1 = 10210201 + 690986 + 1 = 10210201 + 690987

270



0000010210200 20 2003,5,7,11,13,17000000 10000000

690987 = 3 x 11 x 20939 x 1

good
2P + 1 = 33(30940n + 20939)

O0b0o0obO0oOoo33boooooooooboboooboobDo0obooboooooboOooDbOoo
good

Q=345497 0000
P = 510510n + 345497

2P + 1 = 2(510510n + 345497) 4+ 1 = 10210201 4 690994 + 1 = 10210201 + 690995
0000010210200 20 2003,5,7,11,13,17000000 10000000

690995 =5 x 113 x 1223 x 1

oooo
2P + 1 = 5(204204n + 138199)

gboobobooosboboboboobob0oboboboobobOobobDobDOobobOOobOobDOoboOoo
oono

Q=3455030000
P = 510510n + 345503

2P + 1 = 2(510510n + 345503) + 1 = 10210201 4+ 691006 + 1 = 10210201 + 691007
0000010210200 20 2003,5,7,11,13,17000000 1000000

691007 = 127 x 5441 x 1
Ooooo 10210200 000000000000
2P + 1 = 510510m + 180497

goboobooobooboboobboobboobooobooo

Q=345509 0000
P = 510510n + 345509

2P 4+ 1 =2(510510n + 345509) + 1 = 10210201 + 691018 + 1 = 10210201 + 691019

0000010210200 20 2003,5,7,11,13,17000000 10000000

691019 = 7 x 98717 x 1

oooo
2P + 1 = 7(145860n + 98717)
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goooooogvyoUooOOoO0oOoU0OOoU0OO0DOOU0DOOoU0ODOU0ODOOUODOODOOUODOO
goo

Q=3455110000
P = 510510n + 345511

2P 4+ 1 =2(510510n + 345511) + 1 = 1021020n + 691022 + 1 = 10210201 + 691023

0000010210200 20 2003,5,7,11,13,17000000 10000000

691023 = 3 x 230341 x 1

oooo
2P + 1 = 3(340340n + 230341)

o00ob0ooO0oo030b00b0obooo0ooboobDooOo0obobobODobDobOoobOobDOoDOon
goo

Q=3455170000
P = 510510n + 345517

2P 4+ 1 =2(510510n + 345517) + 1 = 1021020n + 691034 + 1 = 10210201 + 691035

0000010210200 20 2003,5,7,11,13,17000000 10000000

691035 =3 x 5 x 23 x 2003 x 1

oooo
2P + 1 = 15(68068n + 46069)

goodoOooOoboobooOooobOobooooUooUooOoDOobDOoOoDOobDOoboooboooboo
good

Q=3455230000
P = 510510n + 345523

2P + 1 = 2(510510n + 345523) + 1 = 10210201 4+ 691046 + 1 = 10210201 + 691047
0000010210200 20 2003,5,7,11,13,17000000 10000000

691047 =3 x 3 X 7 X 7 x 1567 x 1

oooo
2P + 1 = 21(48620n + 32907)

oboobOoobo21000b0b00ob00oob0booo0booo0b0o0oboobUobDooobOoobOoo
good

Q=345520000 0
P = 5105100 + 345529
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2P + 1 =2(510510n + 345529) + 1 = 1021020n + 691058 + 1 = 1021020n + 691059

0000010210200 20 2003,5,7,11,13,17000000 10000000

691059 = 3 x 230353 x 1

oooo
2P + 1 = 3(340340n + 230353)

gooooooOo300boo0ooU0ooU0ooU0bOoUDOOoUoDOoUbObOUDOoObDbOUDoOO
goo

Q=3455330000
P = 510510n + 345533

2P + 1 = 2(510510n + 345533) + 1 = 10210201 4 691066 + 1 = 10210201 + 691067
0000010210200 20 2003,5,7,11,13,17000000 10000000

691067 = 13 x 17 x 53 x 59 x 1

oooo
2P + 1 = 221(4620n + 3127)

o00ob0obOoo221000000000000DOO0DOO0O0O0oO000DbOO0ObOODbDODOoDOOobOOn
good

Q=3455390000
P = 510510n + 345539

2P + 1 = 2(510510n + 345539) 4+ 1 = 10210201 4+ 691078 4+ 1 = 10210201 4 691079
0000010210200 20 2003,5,7,11,13,17000000 1000000
691079 = 691079 x 1
0000 10210200000000000000
2P + 1 = 510510m + 180569

gbobooboooboobboobboobobooobuoonoboon

Q=3455470000
P = 510510n + 345547

2P 4+ 1 =2(510510n + 345547) + 1 = 1021020n + 691094 + 1 = 10210201 + 691095

0000010210200 20 2003,5,7,11,13,17000000 10000000

691095 = 3 x 5 x 46073 x 1
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2P + 1 = 15(68068n + 46073)

oooooooolboooobooooobobooobooboobooboboooobOoobOoo
good

Q=3455510000
P = 510510n + 345551

2P 4+ 1 = 2(510510n + 345551) 4+ 1 = 10210201 4 691102 + 1 = 1021020n + 691103
0000010210200 20 2003,5,7,11,13,17000000 10000000

691103 = 7 x 98729 x 1

oooo
2P + 1 = 7(145860n + 98729)

oooooooovooooooboobooooooobooboooooobooOobObOooooobbOBbOoOn
ooo

Q=3455570000
P = 5105100 + 345557

2P + 1 = 2(510510n + 345557) 4+ 1 = 10210201 4 691114 + 1 = 10210201 + 691115
0000010210200 20 2003,5,7,11,13,17000000 10000000

691115 =5 x 277 x 499 x 1

oooo
2P + 1 = 5(204204n + 138223)

gbooboooosObobobobooobooboboboobobOobUobDoboDoboboobOobDOobDOoo
goo

Q=3455630000
P = 5105100 + 345563

2P + 1 =2(510510n + 345563) + 1 = 1021020n + 691126 + 1 = 1021020n + 691127

oo0o0o00o10210200 20 2003,5,7,11,13,17000000 1000000

691127 = 23 x 151 x 199 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 180617

ooboobooobooboboobboobbooobooobooo
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Q=3455710000
P = 510510n + 345571

2P + 1 =2(510510n + 345571) + 1 = 10210201 + 691142 + 1 = 10210201 + 691143

0000010210200 20 2003,5,7,11,13,17000000 10000000

691143 = 3 x 101 x 2281 x 1

oooo
2P + 1 = 3(340340n + 230381)

go0oooooOo3o0boo0oo0ooU0ooU0bOoUDOOo0oDbDOoUbOOUDOoUobDOUDoOO
goo

Q=3455770000
P = 510510n + 345577

2P 4+ 1 =2(510510n + 345577) + 1 = 10210201 + 691154 + 1 = 1021020n + 691155

0000010210200 20 2003,5,7,11,13,17000000 10000000

691155 =3 x 3 x 5 x 15359 x 1

oooOo
2P + 1 = 15(68068n + 46077)

oboobOoooiboooboooooobooooObooobOo0oboobUobDoooDbOobobOoo
good

Q=345581 0000
P = 510510n + 345581

2P 4+ 1 =2(510510n + 345581) + 1 = 10210201 + 691162 + 1 = 10210201 + 691163

0000010210200 20 2003,5,7,11,13,17000000 10000000

691163 = 11 x 19 x 3307 x 1

oooo
2P + 1 = 11(92820n + 62833)

goooooboOolnoobooOooob0oboobOoU0ooOUoOoOoDOOobDOoOoDOobDOobobOoboOooog
gogo

Q=345580 0000
P = 510510n + 345589

2P 4+ 1 =2(510510n + 345589) + 1 = 1021020n + 691178 + 1 = 1021020n + 691179

275



0000010210200 20 2003,5,7,11,13,17000000 10000000

691179 = 3 x 230393 x 1

good
2P + 1 = 3(340340n + 230393)

o00obOobO0o0o30b0b0oboooooboboooOobOOobOoboDobDobooobOobDOobDOoo
goo

Q=345599 000 O
P = 510510n + 345599

2P + 1 = 2(510510n + 345599) 4+ 1 = 10210201 + 691198 + 1 = 10210201 4+ 691199
0000010210200 20 2003,5,7,11,13,17000000 1000000

691199 = 691199 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 180689

gboboobogobooboboobboobbooobuoonooboon

Q=345601 0000
P = 510510n + 345601

2P + 1 = 2(510510n + 345601) 4+ 1 = 10210201 4+ 691202 + 1 = 10210201 4 691203
0000010210200 20 2003,5,7,11,13,17000000 10000000

691203 = 3 x 17 x 13553 x 1

oooo
2P + 1 = 51(20020n + 13553)

oooOooOooOos1boboboOoboob0obobooobooooDobDOooDOobDOoboobOooboO
good

Q=3456070000
P = 510510n + 345607

2P 4+ 1 =2(510510n + 345607) + 1 = 1021020n + 691214 + 1 = 10210201 + 691215

0000010210200 20 2003,5,7,11,13,17000000 10000000

691215 =3 x5 x 7T x29x227x1

oooo
2P + 1 = 105(9724n + 6583)
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gooooOooOoles0dOoboO0O0oO00DOO00ODOoU0ODOOUDOObDO0O0OOOUODOUODOO
goog

Q=3456130000
P = 510510n + 345613

2P + 1 =2(510510n + 345613) + 1 = 10210201 + 691226 + 1 = 1021020n + 691227

0000010210200 20 2003,5,7,11,13,17000000 10000000

691227 =3 x 3 x 3 x 25601 x 1

good
2P + 1 = 3(340340n + 230409)

o00ob0ooO0oo30b00b0oooo0ooboobooDobobobobODobDobOoobOoDOoDOon
goo

Q=3456170000
P = 510510n + 345617

2P 4+ 1 =2(510510n + 345617) + 1 = 1021020n + 691234 + 1 = 10210201 + 691235

0000010210200 20 2003,5,7,11,13,17000000 10000000

691235 =5 x 138247 x 1

oooo
2P + 1 = 5(204204n + 138247)

goooooo0ds0U0bO00bOO0ObOO0OO0ODOU0UDOODOUODOUODOUODOUODOO
ooo

Q=3456190000
P = 510510n + 345619

2P + 1 = 2(510510n + 345619) 4+ 1 = 10210201 + 691238 + 1 = 10210201 + 691239
0000010210200 20 2003,5,7,11,13,17000000 10000000

691239 =3 x 19 x 67 x 181 x 1

good
2P + 1 = 3(340340n + 230413)

goobOobooo3obobooooooboobooDooboboboDoboDobooobUobDOooDoo
goo

Q=345623 0000
P = 510510n + 345623
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2P + 1 =2(510510n + 345623) + 1 = 1021020n + 691246 + 1 = 10210201 + 691247

0000010210200 20 2003,5,7,11,13,17000000 1000000

691247 = 139 x 4973 x 1

o000 10210200000000000000O0

2P 4+ 1 = 510510m 4+ 180737

gboboobogobogoboboobboobooobooooboon

Q=345629 0000
P = 5105100 + 345629

2P + 1 = 2(510510n + 345629) 4+ 1 = 10210201 4+ 691258 + 1 = 10210201 4 691259
0000010210200 20 2003,5,7,11,13,17000000 1000000

691259 = 463 x 1493 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 180749

gbbooggbogoboobbugobboobbooobuoonbagn

Q=3456370000
P = 510510n + 345637

2P 4+ 1 =2(510510n + 345637) + 1 = 10210201 + 691274 + 1 = 1021020n + 691275
oboo00o0o10210200 20 2003,5,7,11,13,17000000 10000000

691275 =3 x5 x5 x 13 x 709 x 1

oooo
2P + 1 = 195(5236n + 3545)

oo0oboobOoos 00000000000 boooooo0oobobobOoDOoooboon
good

Q=23456410000
P = 510510n + 345641

2P 4+ 1 =2(510510n + 345641) + 1 = 10210201 + 691282 + 1 = 10210201 + 691283

0000010210200 20 2003,5,7,11,13,17000000 1000000

691283 = 163 x 4241 x 1
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0000 102102000000000000000

2P 4+ 1 =510510m + 180773

gbobooobogobooboboobboobboooboooboon

Q=3456430000
P = 510510n + 345643

2P + 1 = 2(510510n + 345643) 4+ 1 = 10210201 4 691286 + 1 = 10210201 + 691287
0000010210200 20 2003,5,7,11,13,17000000 10000000

691287 =3 x 131 x 1759 x 1

oooo
2P + 1 = 3(340340n + 230429)

gooooooOo3oobooooooobo0ooU0bOoUbDOoUobOoUobDbOUDbDOoUobDboUODoO
oono

Q=3456470000
P = 510510n + 345647

2P + 1 = 2(510510n + 345647) + 1 = 10210201 4 691294 + 1 = 10210201 + 691295
0000010210200 20 2003,5,7,11,13,17000000 10000000

691295 =5 x 11 x 12569 x 1

oooo
2P + 1 = 55(18564n + 12569)

O00o0o0oogosooobboobooobboobobooo0boobooboboooobOoobOoo
good

Q=345649 0000
P = 5105100 + 345649

2P + 1 =2(510510n + 345649) + 1 = 1021020n + 691298 + 1 = 1021020n + 691299

0000010210200 20 2003,5,7,11,13,17000000 10000000

691299 =3 x 3 x 7 x 10973 x 1

oooo
2P + 1 = 21(48620n + 32919)

goooooboo21000b0000ob0booOoo0obo0oooDOobDOo0oDOobDOoboboboOooboo
good
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Q=345659 000 0
P = 510510n + 345659

2P + 1 = 2(510510n + 345659) + 1 = 10210201 + 691318 + 1 = 10210201 + 691319
0000010210200 20 2003,5,7,11,13,17000000 1000000

691319 =97 x 7127 x 1

o000 102102000 000000000000

2P +1 = 510510m + 180809

gboboobogoboobboobboobbooobuoonooboon

Q=3456710000
P = 510510n + 345671

2P 4+ 1 =2(510510n + 345671) + 1 = 10210201 + 691342 + 1 = 10210201 + 691343
oboo0o00ol10210200 20 2003,5,7,11,13,17000000 1000000

691343 = 691343 x 1

Ooooo 10210200 000000000000

2P 4+ 1 = 510510m + 180833

gboboobooobooboboobboobboobooobooo

Q=3456730000
P = 510510n + 345673

2P 4+ 1 = 2(510510n + 345673) + 1 = 10210200 + 691346 + 1 = 10210200 + 691347
0000010210200 20 2003,5,7,11,13,17000000 10000000

691347 = 3 x 230449 x 1

oooOo
2P + 1 = 3(340340n + 230449)

o00b0o0O0o03000b0000000b00oDbD0oOD0oO0bO0obO0oDOOobODOoOOoOobOobDOoDbDOn
goo

Q=3456770000
P = 510510n + 345677

2P 4+ 1 =2(510510n + 345677) + 1 = 10210201 + 691354 + 1 = 1021020n + 691355

0000010210200 20 2003,5,7,11,13,17000000 10000000

691355 =5 x 7 x 19753 x 1
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oooo
2P + 1 = 35(29172n 4 19753)

000000003 0000000000000000DO000DO00DO0ODODO0ODODOODODOD
good

Q=3456790000
P = 5105100 + 345679

2P + 1 = 2(510510n + 345679) + 1 = 1021020 + 691358 + 1 = 10210201 + 691359
0000010210200 20 2003,5,7,11,13,17000000 10000000

691359 = 3 x 230453 x 1

oooo
2P + 1 = 3(340340n + 230453)

o00obOobooo30b0obooooooboobooOoOobOobobDobDOobooobOobOobDOoo
goo

Q=345680 000 O
P = 510510n + 345689

2P + 1 = 2(510510n + 345689) + 1 = 10210201 + 691378 + 1 = 10210201 + 691379
0000010210200 20 2003,5,7,11,13,17000000 10000000

691379 = 13 x 13 x 4091 x 1

oooo
2P + 1 = 13(78540n + 53183)

oboobooobo3ooooboooooobooobooboOobooboboooobOoobOoo
good

Q=345691 0000
P = 510510n + 345691

2P 4+ 1 =2(510510n + 345691) + 1 = 10210201 + 691382 + 1 = 10210201 + 691383

oo000010210200 20 2003,5,7,11,13,17000000 10000000

691383 =3 x 7Tx 11 x41 x 73 x1

oooo
2P + 1 = 231(4420n + 2993)

gOo0o0o0o0oboOo23i0goofdoo00oo0obooobogoo0bbo0o0oooooDOoUDoo
gogo
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Q=3457010000
P = 510510n + 345701

2P + 1 = 2(510510n + 345701) 4+ 1 = 10210201 + 691402 + 1 = 10210201 + 691403
0000010210200 20 2003,5,7,11,13,17000000 1000000

691403 = 23 x 23 x 1307 x 1

o000 102102000000000000000

2P 4+ 1 =510510m + 180893

gbobooobogobooboboobboobooobuoooboon

Q=3457030000
P = 5105100 + 345703

2P + 1 =2(510510n + 345703) + 1 = 1021020n + 691406 + 1 = 1021020n + 691407

0000010210200 20 2003,5,7,11,13,17000000 10000000

691407 =3 x 3 x 17 x 4519 x 1

oooo
2P + 1 = 51(20020n + 13557)

goooooboOosibobobooboobobobooobooooDoobDooDobDOobooboOoboO
good

Q=3457070000
P = 510510n + 345707

2P + 1 =2(510510n + 345707) + 1 = 1021020n + 691414 + 1 = 1021020n + 691415

0000010210200 20 2003,5,7,11,13,17000000 10000000

691415 =5 x 138283 x 1

oooo
2P + 1 = 5(204204n + 138283)

oboobobooosOob0obOobOUoobo0ob0obDobOUobObOobUobDobDOobObOoobUobDOoboOoo
goo

Q=3457130000
P = 5105100 + 345713

2P 4+ 1 =2(510510n + 345713) + 1 = 10210201 + 691426 + 1 = 1021020n + 691427
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0000010210200 20 2003,5,7,11,13,17000000 10000000

691427 = 11 x 239 x 263 x 1

oooo
2P + 1 =11(92820n + 62857)

oboobooobolnooooboooooboboooboobOo0obooboboooobOoobOoo
goog

Q=3457210000
P = 510510n + 345721

2P + 1 = 2(510510n + 345721) 4+ 1 = 10210201 + 691442 + 1 = 10210201 + 691443
0000010210200 20 2003,5,7,11,13,17000000 10000000

691443 = 3 x 3 x 3 x 25609 x 1

ooono
2P + 1 = 3(340340n + 230481)

000000003 000000000000DO00DO000O0DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3457270000
P = 510510n + 345727

2P + 1 = 2(510510n + 345727) + 1 = 1021020n + 691454 + 1 = 1021020n + 691455
0000010210200 20 2003,5,7,11,13,17000000 10000000

691455 =3 x 5 x 31 x 1487 x 1

oooo
2P + 1 = 15(68068n + 46097)

goodoooOoboobooOooobOoboooUooOUooO0oDOobDUoUoDUObDOobobOooboOooboo
goodg

Q=3457310000
P = 510510n + 345731

2P 4+ 1 =2(510510n + 345731) + 1 = 1021020n + 691462 + 1 = 10210201 + 691463

0000010210200 20 2003,5,7,11,13,17000000 1000000

691463 = 691463 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 180953
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gboboobogobogoboboobboobooobooooboon

Q=3457330000
P = 5105100 + 345733

2P + 1 = 2(510510n + 345733) 4+ 1 = 10210201 4 691466 + 1 = 10210201 + 691467
0000010210200 20 2003,5,7,11,13,17000000 10000000

691467 =3 x 7 x 19 x 1733 x 1

oooo
2P + 1 = 21(48620n + 32927)

goooooboOo2100b0b0000ob0oboobooobooooDoobDooDOobDOobooboOoboo
good

Q=3457390000
P = 510510n + 345739

2P + 1 = 2(510510n + 345739) 4+ 1 = 10210201 + 691478 + 1 = 10210201 + 691479
0000010210200 20 2003,5,7,11,13,17000000 10000000

691479 =3 x 3 x 76831 x 1

oooo
2P + 1 = 3(340340n + 230493)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=3457430000
P = 5105100 + 345743

2P 4+ 1 = 2(510510n + 345743) + 1 = 10210200 + 691486 + 1 = 10210200 + 691487
0000010210200 20 2003,5,7,11,13,17000000 1000000
691487 = 79 x 8753 x 1
0000 10210200000000000000
2P + 1 = 510510m + 180977

goooooboobooboooobooboobooobobOooboboOoOoobooooDon

Q=3457490000
P = 5105100 + 345749

2P + 1 =2(510510n + 345749) + 1 = 10210201 + 691498 + 1 = 10210201 + 691499
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0000010210200 20 2003,5,7,11,13,17000000 1000000

691499 = 691499 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 180989

goboobooobooboboobboobbooboooboon

Q=3457570000
P = 5105100 + 345757

2P + 1 = 2(510510n + 345757) 4+ 1 = 10210201 4 691514 + 1 = 10210201 + 691515
0000010210200 20 2003,5,7,11,13,17000000 10000000

691515 =3 x 3 x5 x11x11 x127x1

0ooo
2P + 1 = 165(6188n + 4191)

oboobobgoolesoboooooooboobobobooboobooobOobUobUoboooOoooo
good

Q=345767 0000
P = 5105100 + 345767

2P + 1 = 2(510510n + 345767) + 1 = 10210201 4 691534 + 1 = 10210201 + 691535
0000010210200 20 2003,5,7,11,13,17000000 10000000

691535 =5 x 13 x 10639 x 1

oooo
2P +1 = 65(15708n + 10639)

oooOoDOoboOe 000000 0ODODOOODOOOOOODODOODODODbOODODOODOO
good

Q=345769 0000
P = 510510n + 345769

2P + 1 =2(510510n + 345769) + 1 = 10210201 + 691538 + 1 = 10210201 + 691539

0000010210200 20 2003,5,7,11,13,17000000 10000000

691539 = 3 x 59 x 3907 x 1

oooo
2P + 1 = 3(340340n + 230513)
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goo

Q=3457730000
P = 510510n + 345773

2P 4+ 1 =2(510510n + 345773) + 1 = 10210201 + 691546 + 1 = 10210201 + 691547
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

691547 = 41 x 101 x 167 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 181037

oooboobooobooboboobboobboobooobooo

Q=345781 0000
P = 510510n + 345781

2P + 1 = 2(510510n + 345781) 4+ 1 = 10210201 + 691562 + 1 = 10210201 + 691563
0000010210200 20 2003,5,7,11,13,17000000 10000000

691563 = 3 x 29 x 7949 x 1

ogooo
2P + 1 = 3(340340n + 230521)

o0obobooo30bobobooooobobooDoOoboboboDobODobooobOobDOooDOoo
goo

Q=2345791 0000
P = 5105100 + 345791

2P + 1 = 2(510510n + 345791) 4+ 1 = 10210201 + 691582 + 1 = 10210201 + 691583
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